1X noesepx

KomHat S xun. 'S obu.
4 92,5 1147

KomHaTt S xun. S obuy. KomHaTt S »xun. S obu.
2 79 100,9 4 95,5 115

1,14 m? E—
3,91 m? ,
KomHat S wun. | S obul. KomHaTt Sxwun. S obw,. KomHat Sxwun. S obu,. : 3.92m
R I D N
1,62 W 2 %67 | 75 2 | 612 7972 2 | 618 789 4,05 A l
3,93
| | CJ |
I 2,66 M2 d» 7
KomHaTt S xun. S obu. \7 ) (. r?\ 19,44
“ \I . : : o : \“‘\ l - = I
2 401 497 . -
’ ’ I ) ¢ Il
= 245l g, ] ﬂ>
- - neete | Imiand | 17 46 w2
. L X
1144 w° M s00w B 2 | '
2,78 M 17,72 m :
T R
(] =TT e
- = I e [ =4 PP S R
KomHat S>xumn. 'S obuu. J_ . 1 (= % ] %
' ’ L{ | RN 54
2 : a\ T X ¢
55,5 67,5 = | ! | L e 0
' | ] X 9,09 m
— il 2 g |
11,97 m2 | ' .00 M 3 (
="l 0 g : 1
‘ ! “;“ - oy ;;r 7\ \/ 3,21 M2 }\\
=1 14,09 [ Fw‘ﬁ/j 21,19 m2|| 7,26 w2 i . e T
1 - ‘\ . I
[ RGO DO PO OO XN @ | STeZeZeToToToToT0Ta | ToTe! | ToTHTI| oTeTHT4THTNTNTSY |
8,80 m? p——
w % m m AT A A A A AT e e | AT AT AT A AT A AT A A
2,47 M ‘ |
it - | i
: o 1 j
K 8,40 m2 |
P:1 ) 1
."1
[} »
1 ::
! R 22,45 w2
. i Il‘ | = 16,28 M3 16,35 M2 l
| [i=——————<}—§*—}i s a— ] |
2 2
3,19 M2 3,80 M 3,31 M

KomHat S xwun. 'S obu.
83,9

15,15 m?

KomHat Sxun. 'S obu,.
2 41 51,3

KomHat Sxun. 'S obu.
52,4

KomHat S xun. 'S obu.

KomHat Sxun. S obu.
2 33,6 49,9

KomHat S xun. 'S obu,.

2 | 644

KomHat Sxun. 'S obuy,.

51,8 68,3

KomHat S xun. 'S obu.

KomHat Sxun. S obu.
43,3



